Chapter 6 Final Review

The Slope of a Line
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Equation of a line in Slope-Intercept Form
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Equation of a line in Slope-Point Form
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Example: Write the equation of a line in slope-point form for a line that has a slope of 5and passes

through the point &%),
y" y| = m(x-¥)

o= 4
Y- 4 -g(x-(-z))
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Example: Rewrite the equofiﬁ%gfhe previous example into slope-intercept form.

"
-4= & (y+2 y=4x+8d + 4
Y s (x+2) 5 5 ..

"4:i +£. =4 8 .20
Y Y 5x+_§+?

5
+y +4

Equation of a line General Form

Ax+By+C=0  + A must b posihve
s No frach’ans

Example: Rewrite the equation from the previous example into general form.

riey)

S5y= 4x + 28
...S'j -53

X & Y Intercepts

xX- |'n+ercep4

x —intercept
¢ the value of x wheny =1
e where the graph crosses the x axis.

y—intercept
e the value of y whenx =10
s where the graph crosses the y axis.

- y-intercept

3x-5y+12=0

Example: Find the x and y intercepts of the following linear function:

x-nt (y=0) y-int. (x=0)
3x~5(0) +12=0 3(0)- 5y +11 =0

- =0
-1 = — 8y = =17

3x = =12 (x=-4 ="
3 2
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Parallel and Perpendicular Lines

Parallel Lines

¢ Lines that have the same slope and different y-intercepts.

e Lines will neverintersect

Perpendicular Lines

e Lines with slopes that are negative reciprocals of each other.

Example: Determine whether the following pairs of lines are parellel are perpendicular fo each other.

y=2x+4 v
a) —4x +l2y:?
T4x+zy =7
+U4y +UYy

2 2 2
- 7
y-2x+—i

both lines have
ms= 2 ;

lines are pa,ra.lle.l
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-1y -0
Ay = -1 -20
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y==3x-5
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